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Which is the only land-locked country in
South-East Asia ?

(1) Cambodia

(2) Malaysia

(3) Laos

(4) Thailand

Consider the following statements :

Assertion (A) :

Assam grows maximum tea in

India.

Reason (R) :

A lot of cheap tribal labour is

available.

Select the code for the correct answer

from the options given below :

(1) Both A and R are true and R is the

correct explanation of A

(2) Both A and R are true but R is not

the correct explanation of A

(3) Aistrue, Ris false

(4) Aisfalse, Ris true

(3-A)

Match the following Tribes (List I) with
Locations (List IT) :

List I List I
(Tribe) (Location)
A. Masai I. Arabia
B. Bedouin II. Northern Nigeria
C. Hausa III. Eastern Africa/
Kenya

D. Bushmen IV. Kalahari Desert

Select the code for the correct answer
from the options given below :

A B C D
(1) 1III I II v
2 1 III II v
(3) III II I v
4 1II I ITI v

Based on the size of the population,

consider the following urban settlements :
City
Town

A

B

C. Megalopolis
D. Megacity
E

Million city

Using the code, arrange the urban

settlements in decreasing order.
(1) ED,CAB
(2) C,D,E,AB
3) D,C,E,AB
4 D,E,C,AB
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Which of the following statements is/are

correct regarding ‘Sendai Framework’ ?

A. The fourth UN World Conference on
Disaster Risk Reduction was held in
Sendai, Japan from 14 — 18 March
2015.

B. The Conference adopted the Sendai
Disaster  Risk

Reduction 2015 — 2030.

Framework for

Select the code for the correct answer

from the options given below :
(1) Aonly

(2) Both Aand B

(3) Bonly

(4) Neither A nor B

While standing on Earth, suppose your
weight has a value of 100 Newtons. If the
Earth shrinks to half its diameter without
any change in mass, then your new
weight on the surface of the shrunken

Earth, in Newtons, is

(1) 100
(2) 400
(3) 200
(4) 300

G-A)

Select the false statement.

The Mediterranean type of climate is
characterised by
(1) A dry warm summer with offshore

trades and there is practically no
rain in summer.

(2) The Mediterranean lands receive
most of their precipitation in
winter, when the westerlies shift
equator-wards.

(3) The Mediterranean climate features
are transitional between those of
the trade winds hot desert in the
south and cool temperature
maritime climate in the north.

(4) Rain in the Mediterranean Europe
normally begins in January.

Consider the following statments about

Kailash Satyarthi, Nobel Peace Prize

winner, 2016 for India :

A. Kailash Satyarthi is the third
Indian Nobel Peace Prize winner

after Mother Teresa and Amartya
Sen.

B. Kailash Satyarthi is the founder of
the Bachpan Bachao Andolan (save
the childhood movement).

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly

(2) Bonly

(3) Both Aand B
(4) Neither A nor B
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Which one of the following statements is

not correct ?

(1) K2 (Mount Godwin-Austen) is the

highest peak in India.

(2) Indira Gandhi Canal is the longest
canal in India.

(3) Hirakud is the longest dam in India.

(4) Geographically Uttar Pradesh is the

biggest State in India.

Which one of the following International

Airports is not correctly matched ?

(1) Hyderabad — Anna

(2) Kolkata — Subhas Chandra Bose
(3) Delhi — Indira Gandhi
(4) Mumbai - Chhatrapati Shivaji

Which of the following organizations

issues the “Global Economic Prospects”

Report ?

(1) World Bank

(2) BRICS Bank

(3) The Asian Development Bank

(4) The US Federal Reserve Bank

(7-A)

12,

13.

14.

The Cauvery river or Kaveri, is one of the
important and sacred rivers of South
India and travels through Karnataka and
Tamil Nadu across the Deccan Plateau.
Which of the following statements is true
about it ?

(D)

It originates at Talakaveri in the

Eastern Ghats Mountain Range.

(2) Jog Falls located on the Shimoga
and Uttara Kannada district border

is formed by it.

(3) Hemavati river is one of its
tributaries.

(4) Kabini river is not one of its
tributaries.

Who said the following ?

“I can ruin their resources by land but I
cannot dry up the sea.”

(D
(2)
(3)
(4)

Tipu Sultan
Zaman Shah
Haider Ali

Nizam

Which one of the following is not correctly

matched ?

(1) Kumardhara -  Arkavati
(2)  Yagachi — Hemavati
(3) Karanja — Manjara
(4) Hiran — Narmada
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Which one of the following industrial

cities is not correctly matched ?

(1) Heavy electricals — Haridwar

(2) Antibiotic (Penicillin) — Vadodara
industry

(3) Woollen goods — Dhariwal

(4) Machine tools — Pinjore

In the production of sugar, arrange the

following States in descending order :
A. Bihar

B. Maharashtra

C. Karnataka

D. Gujarat

Select the code for the correct answer
from the options given below :

1) AB,CD
(2 AB,D,C
3 B,C,D,A
4 B,AD,C

Who among the following introduced

Local Self-Government in India ?
(1)
(2)
(3)
(4)

Lord Rippon
Raja Ram Mohan Roy
Lord Mountbatten

Lord Canning

(9-A)

18.

19.

Arrange the following later Mughal

emperors in chronological order :
A. Alamgir II

B. Muhammad Shah

C. Shah Alam IT

D. Ahmad Shah

Select the code for the correct answer
from the options given below :

(D
(2)
3)
(4)

C,B,D,A
A C,B,D
A B,C,D
B,D,A,C

Which of the following statements about

Akbar are correct ?

A.  Akbar was proclaimed king in 1565
when he was only 13 years of age.

B. Akbar was looked after by Bairam
Khan.

C. He fought his first battle with
Hemu at Panipat.

D. He had marriage relationships with
many Rajput Royal families.

Select the code for the correct answer
from the options given below :

(D
(2)
3
(4)

A, B and C only
B, C and D only
A, C and D only
A,B,CandD
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Match the Anglo Maratha War (List I)
with the Event (List II) :
List I List IT
(Anglo Maratha (Events)
War)
A. First Anglo I. Treaty of
Maratha War Bassein
B. Second Anglo II. Treaty of Salbai

Maratha War

C. Third Anglo
Maratha War

ITI. Peshwa Bajirao
II, Yaswant Rao
Holkar and Appa
Sahib Bhonsale

defeated

Select the code for the correct answer

from the options given below :

(1 II IT1 I
(2 1II I III
(3) III I II

4) III II I

(11-A)

21.

22,

Which of the following statements about

Montague-Chelmsford Reforms is/are

correct ?

A. It made the central Ilegislative
bicameral.

B. The Act explicitly mentioned the
three
members to the Council.

appointment  of Indian

Select the code for the correct answer
from the options given below :

(D
(2)
(3)
4)

A only
B only
Both A and B

Neither A nor B

Who among the following were hanged in

connection with Kakori train robbery

case ?

A. Ram Prasad Bismil

B. Rajendra Lahiri

C. Roshan Singh

D. Chandrashekhar Azad
E. Batukeshwar Dutt

Select the code for the correct answer
from the options given below :

(D
(2)
(3)
4)

A Band C
Both A and C
A,B,Cand E

None of the above
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How many triangles are there in the

given figure ?

(1) 16
(2) 13
3 11
4) 15

Consider the following statements :

A. Kwashiorkor is a disorder of children

due to protein/essential acid

deficiency.

B. AIDS can be transferred from mother
to child though placenta.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly

(2) Bonly

(3) Both Aand B
(4) Neither A nor B

(13-A)

25.

26.

Find the value of X in the following

question :

G @ @ G & 9
© (7 (12
® ® ®

(1) X=5
(2) X=6
3) X=8
4) X=9

Purnaiah reorganised the administration
under the following heads :

A. Treasury and Finance

B. Education

C. Military
Kandachar or police

establishment including

D. Revenue

Select the code for the correct answer
from the options given below :

(1) A, CandD only

(2) Bonly

(3) A and B only

(4) BandD only
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(4)  $eeosd

30. a’%gz%oiraw P
-0 )

31.

QT Q R’, FoEn
5 $.000.38eNT BOTRE), IBOI0TS =02 Q
oz P 1, Poedt 3 3.Q0¢. Fenm BTG,
20TOMOTS, VRE TR @oirasa%d
SRCBRor oIt R0ORO IJen® T
(8-508.) R ?

1) 4

(4)  RBoedT CINRTH ),

& FBoDI) SFHAHS Ind FL FENT
FBrer wgon:

DT TR
DT DR, R
o,
Napketac 11018 [80) 30 50 f&dea’id 205
aE@BS Ay, \20|10 \20/ 15 | 15 ’
~ SonRoug
ARTEREEZT 40 DRTFS
VTS 2RTT T3,
2R3 Rosl,

83 DR UL, DTTF S QU0 K0,

(1) 80
(2) 15
(3 18
4) 20

(14-A)
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Kedareshwara temple at Halebidu and
Amruteshwara temple at Chikamagalur
were built during the period of

(1) Veera Ballala II
(2) Veera Ballala III
(3) Narasimha II
(4) Rajaraja III

Match the works of the poet/writers
(List I) with the name of the poet/writers
(List IT) whose creation it is

List I List IT
A. Natyashastra I. Somadeva
B. Kathasaritsagara II. Bharata
C. Harshcharita III. Sandhyakar
Nandi
D. Ramcharita IV. Banabhatta
E. Buddhacharita V. Asvaghosh

Select the code for the correct answer
from the options given below :

A B C D E
1 I II III v IV
(2 I I v II1 A%
3) 1II I A% IV II1
4) I A% II ITI IAY

India and which country will jointly issue
postage stamps with Diwali as the

theme ?

(1) Bhutan
(2) Indonesia
(3) Canada
(4) Sri Lanka

30. A man walks from P to Q at the rate of

31.

Number of persons

5 km an hour and returns from Q to P at
the rate of 3 km an hour. What is the

average rate in km per hour for the whole

journey ?
1) 4
15
2 i
(2) 1
1
3 el
(3) 1
(4) None of the above

Study the diagram given below and
answer the questions that follow :

Number of persons

having SSLC 110 18 (80 30| 50 having Intermediate
qualification 20110 \20/ 15 | 15 qualification
Number of persons
Number of persons 15 having graduate
having Post ——{ 40 qualification
graduate
qualification

Find out the number of persons who have
all the four qualifications.

(1) 80
(2) 15
(3 18
4) 20

(15-A)
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POTEBTE Y, WSI00Y, WINEIENTY, 2,080
RINEIE BNT, 00T KINER BRORJTT
wWST0sE, FRBICINPNT 20T 28GRE 0IRH
BRET wWIN30ID B @063
ﬁ@@oéd;ﬁg{ SRe0R3D ?

1921
1931
1941
1951

(D
(2)
3
(4)

3om) Ond (R) z%%mfo (C); 3R
235%71%33 (C) To0WNEY (D). C3nRT)TIe TooW
2wOT  TAVQ, BB, WEDT BT
Sear0t3g 30, TOW3.

(16 —A)

34.

35.

20T WONGRCE A, B, C @032 D 0w
QNG HTTNY T, 1eoedNess. D ol A
O, 2FTFP B, C oI BYNR B, B
c30 D Nog 309, SBT3 C NoB 3. 2,080
Bees By B8 T RRoLIoDRI ERYLO
WOIRTY, B BRBW WY
DOeHTLICB ?

(1) D

2 C

3) B

4) A

=330 oD RPONTY BNRFH, LRIFI®,
9083, MR, Tmy [IY J& - W
Bomotoesd, TeODY, Tewdd, AINTIR
9 BTN TEZRWONR 2.0TROT
BoL3eT QTIOR3 @ajddaq Q0RIeFTINT,
BRG, WY, @B F& WOT IRFCPY,
Foned WONRYOY, J03T° Y WRGE
RO BOEETT  WACPE),  03RCR
QTPTRITT, BT [ FB0H
BOLCTT DWORW LOTE WoTD SO Boeded
VT, WS BoLIeTR) TR, W F@
fa&gp 50@3@6&@6 BRODBNOTB0ET, ADRO3IN
T,T0PR0T,  T0ITT  BoL3eTTOTIRD.
TNTY FoNTOT  WRBTTT BTN
No Bosd; R ?

(H 4

(2)

3
(4)

(S N VR VL]
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India, there was only one census which

depicted an observed decrease in
population compared to the previous
census. Which year’s census showed this

unexpected result ?

(1) 1921
(2) 1931
(3) 1941
(4) 1951

Some rats (R) are cats (C). Some cats (C)
are dogs (D). No dog is a cow. Find the
Venn diagram that depicts this.

(D)

(2)

3)

(4)

(17-A)

34.

35.

In a shop, there are four dolls A, B, C and
D of different heights. D is neither as tall
as A nor as short as C. B is shorter than
D but taller than C. If the baby wants to
purchase the tallest doll,

should she purchase ?

which one

(1) D
2 C
3 B
4 A

Six friends Madav, Shankar,

Sanvi, Ramya and Shruthi went on a

Arjun,

vacation to a hill station. They are to be
accommodated in a row of nine cottages,
each in one cottage. Madav, Sanvi and
Shruthi do not want to stay at the end of
the row. Shankar and Madav must not
have anybody adjacent to their cottages.
There shall be only one empty cottage
between Madav’s and Shruthi’s. Arjun’s
cottage is adjacent to both Ramya’s and
Shruthi’s. Sanvi is to be in the cottage
next to the cottage at the beginning. Then
the

consecutive cottages that are occupied ?

what is maximum number of

1 4
2) 3
3 2
4) 5
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NS FBodY,
ECRBNFINDRN. =30 &PDTOHH
DWIBRAOTAR, DY  TeYFODY, 33
DOBSe TONEFALICTNOBT. JeRTIT DTTP
BEVINE TogrTamoN WRINER) @ROTORT
SRR IMIR), B0,

TePBND

[ 3O WINSO 30Zpensd.
II. 30%) Lozpensd 5a0°NLD.
III. 2 TR ARLTTI.

SCTREINLD :

A BOF) BoFRENSD WITND.
B. 303 WI N mééscfﬁ%fo.
C. R WINER TTNW.

Qe@DB  SO3YY, FOSRT  LUBTHN
RO3eT[IRON :

(1) A TN, 2[OITHOSINIZT

(2) B IR, 8030HOSRNOZT

(3) B3 C RN, 280RTHOSIRNOZT
(4) A, B3 C 203p ©30I030

60 DTHFNY STREODNY, WWFTD RO
PPOBCPTD @WIBROWN 3 :2 T
BIOTITE), TONET
PONWOATIT.  FeBEONG,  YINBRT

WoOsCT  osl, edCPY, WPNBLAT

WOOBON0Z 5 TR, ©HT oW =¥

e

15 O3 ﬁcﬁroﬁa@ ONBEITT

3oNECDATOB m@%ojad 083, O ?
(1) 20
(2) 25
3) 30
(4) 40

(18 —A)

TR ée%mf&l
QBN f&@ﬁeﬁs& BRODBROTWOS RN
m’oﬁéﬁ@&z{

3,0T80308)

38.

39.

SRET 1 WS RoeS wowWBY TEE
ﬁ@@(&i@zﬁ, 3OR) BoewsdonEs DY LVPTRY
RBNDTNG. @3% LRBNDTONS ?

A, TRDIID  AR0R03 @Wrmfs;%
BN B0eD30T03 Pawmd

B. JRemamd Hoewd fadod W FNIR,
=BT 00T BTN @dddw&b
QLS.

@e@dad eﬁoi%r{@é@v’ ROCERT  HVZTTN

RoBeBTTOR :

(1) A I B 3 Bewdnsh, Fevdom BIN

QUZORLD AHMPHY, B2y BTIN

SUZORED TR TUF Bk LI

B 3 Iegdadnodie M <nC A D

2,003 JePFOZD, FeTOW @qﬁ

YUOILI TTMOYNE,

A @B B TBeoInIOmY, Wi

Jonsden, 39303 @%ﬁ

PUIDRWTOT BT CRTYTIC  2WOk3

FePFOT0 ATIOIFRE),

A Je Begdodnode B <3 B I

TBewFodnoT FevTON TIR LVBOILO

RTO030TRE,

©TOFF, 2303 WY BOT), 20TE WePT 2.0T3e

Q3TY, e FTTOR BRI,

FiReaEad. .00 BBy Wowd T, YoTE

W03 23003, RIBEOWoN 252, 308 T3 198

ABom YRy IR EpvEed wude .ot

20TVROT TR,C0RROTYT. T,

ARONTI08T @B =F TWToY BRRIT

OTDNTE) e ees smzT,

(1) 26 QRN =03 18 FFowonsd

(2) 42 QRN W3 36 FFowonsd

(3) 45 QROR/AL

(4) 46 QRN =3 12 FFowonsd

(2)

3)

(4)
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Three
followed by four conclusions. You have to

statements have been given
consider the statements to be true, even if
they do not conform to the well-known
Which

follow(s) from the given statements ?

facts. conclusion/s  logically

Statements :
I.  Some Buses are Tempos.
II. Some Tempos are Cars.

IIT All Cars are Scooters.

Conclusions :

A. Some Tempos are Buses.
B. Some Buses are Scooters.
C.  All Buses are Cars.

Select the code for the correct answer
from the options given below :

(1) Only A follows
(2)  Only B follows
(83) Only B and C follow

(4) All A, B and C follow

In a class of 60 students, the number of
boys and girls participating in the annual
sports is in the ratio 3 : 2 respectively.
The number of girls not participating in
the sports is 5 more than the number of
boys not participating in the sports. If the
number of boys participating in the sports
is 15, then how many girls are there in
the class ?

(1) 20
(2) 25
3) 30
(4) 40

(19-A)

38.

39.

Rohan put 9 cards on a table, some face
up and the rest face down. How many
were put face down ?

A. Rohan put an even number of the
cards face up.

B. Rohan put twice as many of the
cards face up as he put face down.

Select the correct answer from the options

given below :

(1) Statements A and B are not
sufficient to answer the question
asked and additional data is needed

to answer the question.

(2) Statement B alone is sufficient but

statement A alone is not sufficient
to answer the question asked.

Both statements A and B together

are sufficient to answer the question

3)

but neither statement is sufficient

alone.

(4) Statement A alone is sufficient but

statement B alone is not sufficient

to answer the question asked.

Arun, Bharath and Chandru start at the
same time in the same direction to run
around a circular stadium. Arun
completes a round in 252 seconds,
Bharath in 308 seconds and Chandru in
198 seconds, all starting at the same
point. After what time will they again
meet at the starting point ?

(D
(2)
3
(4)

26 minutes and 18 seconds
42 minutes and 36 seconds
45 minutes

46 minutes and 12 seconds
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(3)

0o 5|Q S|r—t | =
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(3) AR B wBTBER

(4) A snde @gme B ende 9

42.

43.

[RNTY, TR Toee3d BoBOFTBORGD
DOTBIWONPN WO 7O ?

(1) BoeoEe3 &%oéﬁeﬁ 20063 BVOFTORD

(2)  BeoT-oozy Fowopnd HoedS TWOFFRD

(3) Resxed 203 QPODALIOD

LITWRWZTI WoeS B[O

@) R I Fobed W03, B B

003 FOTHOTD

83 BRLECHI) NB[V0R W ©F0TT
B3N GugoR ;
A, DT BRT Yoy BRIT DT
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28D,
ed
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&
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830,

ed
C. e BR% DY B80S BRr TR,
D. Q¥ 3R QRS ¢ BRTE BIF TR,

E. Q003 308 903 é@%&fsos 3B

&L

3033 Y araéioé 203,
3 INIYINSEY,  BRPYT  BRING
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(2) o, D, QERT, LITODT, WCTD
()  :0F°, 2009, DT, eIy, AETD
4)

33 CRPTR &,

PR, Dy, AT, 20T, JET

(20— A)
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A can do a work in 15 days and B in
20 days. If they work on it together for
4 days, then the fraction of the work that
is left is

1
(D 1
(2 —

=

(3)

=

(4)

1
0
7
5
8
15
Consider the following statements :
A. INS Khanderi, is the second of the
Scorpene class submarines, under
Project-75 of the Indian Navy. The

first was Kalvari.

B. It helps in maintaining naval

superiority giving the navy the
capability to fight under water and
has the ability to launch torpedoes
and help India maintain primacy in

the Indian Ocean.

Which of the above statements is/are

correct ?

Select the code for the correct answer

from the options given below :

(1) Aonly

(2) Bonly

(3) Both Aand B
(4) Neither A nor B

(21-A)

42.

43.

Which

regarding

of the following are correct

the effects of National

Emergency ?

(1) Effect on the fundamental rights

(2) Effect on the Centre-State relations

Effect on the life of Lok Sabha and
State Assembly

3)

(4) Effect on Right to Life and Personal

Liberty

Study the following information carefully
and then answer the question that

follows :

A. Aman weighs twice as much as
Brinda.

B. Brinda weighs four and a half times
as much as Cena.

C. Cena weighs half as much as Divya.
D. Divya weighs half as much as Elana.

E. Elana weighs less than Aman but
more than Cena.

Which of the
descending order of weights ?

following gives the

(D

Aman, Divya, Elana, Brinda, Cena

(2) Brinda, Divya, Elana, Aman, Cena

3

Aman, Brinda, Elana, Divya, Cena

None of these

(4)
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@do&bm#d, 06 S0° B03F 5w 30T
Boesd  Br9303R0RD EVOI® A
BRUETF ST IS IR, WHSOWRIFT
S ARRRTY,  WROWRT, SRR,

T WRBOTON  OTeeEF DO,y
wodde AYDY  cveoded QR
DTSR, LRI ehinlea

FoedR,ee” TRTOOT Her FOT SIBOJTS ?
(1) TRIT ASCII ﬁoﬁeédsoq TR
e,gwg T3e3030 =P m;;ﬁ@s%
ORReEr VBRI

ORpeeF  word Y0 m’o@ea’daﬁg{
ARUWRE Jecwedes BNY dgd%éa:a’
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oRpeer 2ot Y0 #oﬁeéﬁﬁg{
ARUWRR WRtReks TSN dgjdégg
ROE30IRY YVTIOATTI

oRnees® ASCII #oéesdm‘ﬂ TRWROR
RBRF[e BN dgd%:% ﬂdséofodoq
NBORIZT

ToNCE 63RTBIEEF0TD 3ea)BTD 033 ?

(1) Tog3d WorSeas
(2) wndesmoe 11
(3) SoPRe

(4)  Rpedegs III

THRIE Fodgm B30 AP, AR ?

A. D303 GUTRE [T

B. 33528 Gosd

C. MO0 B8 8O0

D. 333,698 B3 T8 VTS

QeRTOT  BoNYY, FOCINT  LVZTHN
03B 00N

(1) e ouRp

(2) BT IR B

(3) ATNB IR,

(4) C 3D B[,

(2)

3

(4)

(22 -A)

47.

48.

RV UTFRT DI, SRR

TONR TREAREB WINTseplevelalela
BOIRTITTY;
(1) Rayhs
(2) @TOTD
(3) ORJerIT
(4) cjj@“doé%ﬁo
:ﬁoz);ﬁ@ﬁ ToWoRIT déiI 0533’% d@i II
0N, YRRT  RONTRIT  WQNEROON
TR0
T3 1 &3 11
eJ eJ
(ﬁoxgﬁ%fo) (ﬂo&@ﬁa’
' QRME0)
A. 03T ACDoZI 1. 2R 315
OISE®
ROTSEDTIOTY
B. Xm0 sodeen  IL. 9 280
C. ©BYTIT 1. O 148
D9,03G8TD
D. 3coT, &peg e IV. Q8 323(A)
eso3en

RoBe3ne Foood00T RO YVFTRY) SO :

A B C D
(1) III IV II I
2 1 II IV III
(3) III II IV I

4 1 IV II III
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Sitting on your couch, recliner chair or on
the floor and flipping through various
television channels is not an uncommon
practice in our society. The remote control
allows you to stay in one place while
doing so. How does the remote control of a
television set work from a distance ?

(1) The remote generates a systematic
series of gamma pulses that signal

an ASCII code

(2) The remote generates a systematic
series of wultraviolet pulses that
signal a binary code

(3) The remote generates a systematic
series of infrared pulses that signal
a binary code

(4) The remote generates a systematic
series of microwave pulses that
signal an ASCII code

Who is the writer of Sangeetha

Choodamani ?

(1) Queen Chandralekha

(2) Jagadekamalla IT

(3) Nayasena

(4) Someshwar III

Which of the following is an in-situ way of
conservation ?

A. National Parks
B. Wildlife Sanctuaries
C. Zoos and Aquariums

D. Botanical and Zoological gardens

Select the code for the correct answer
from the options given below :

(1)  All of the above
(2) None of the above
(3) A and B only

(4) CandD only

(23-A)

47.

48.

Identify the movie which was made by
Tindrum Beats Production of Udupi and

was produced through crowdfunding.

(1) Madipur

(2) Awara
3)

Reservation

(4) Railway Children

Match the Institutions (List I) with
Articles of Constitution (List II) :

List I List I
(Institution) (Article of
Constitution)

A. Comptrollerand 1. Article 315
Auditor General
of India

B. Finance II. Article 280
Commission

C. Administrative III. Article 148
Tribunals

D. Union Public IV. Article 323(A)
Service
Commission

Select the code for the correct answer
from the options given below :

A B C D
(1) III v IT I
2 1 II IV III
(3) III II IAY I
4 1 IV II III
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Consider the following statements :

A. These are the typical valleys found
along the coast of submerged
glaciated upland.

B. The openings of the valleys are broad
at the seas or oceans and projected
inland.

C. The depth of the valley increases
towards the sea.

D. There will be no islands at the
entrance of the valley

This explanation refers to which of the
following ?

Select the code for the correct answer
from the options given below :

(1) Delta

(2) Fiord Coast
(3) Ria Coast
(4) Rift Valley

The theme for International Day for

Biological Diversity 2017 was

(1) Biodiversity and Sustainable
Tourism

(2) Mainstreaming Biodiversity :
Sustaining People and their
Livelihoods

(8) Biodiversity for Sustainable
Development

(4) Biodiversity and Poverty Alleviation

— Challenges for Sustainable

Development

(25-A)

51.

52.

Match the following Gardens (List I) and
the places where they are found (List II) :

List 1 List I1
(Garden) (Place it is
found)
A. Nishat Bagh I.  Ahmedabad
B. Kabuli Bagh II. Panipat
C. Zohra Bagh III. Kashmir
D. Bagh-i-Nagina IV. Aligarh

Select the code for the correct answer
from the options given below :

A B C D
(1) III II IV I
(2) 1II I vV III
3 1 II ITI v
CO II1 II I

The Orion Mission will be the first man
mission to Mars which is on track to take
in 2030 by NASA and the

candidates for that were selected from

place

around the world. After Kalpana Chawla,
who has become the 274 Indian woman to
be selected by NASA for this expedition ?

(1)
(2)
3)
4)

Harpreet Kaur
Teji Bagga
Bindu Singh

Jasleen Kaur Josan



53.

54.

55.

268

3SNS 3R spiefaolalelanlyl DS3T
RBRFEF VY, FRATONE (DT .2.0.70)
0RVODEITT ABREET  WEETNIR $TZ
QBN

(1) ... 030, WOl WOBLTE,
(#é%rw) @Q@Qom BREF =0T
BRTOITY, FSAIT.

DFFR.YD. O WIEREIT SR
BRI NOBOR ROV BRT03ES.
V8 TBROODI), IRDTIE [0,
DB WBRWTOOT . 2.2 0
oygmon YIo® m@&#u%&do.

QAT T éi)d)a?:a'e Seedon's
BRI RS BRBoINGY;

(2)

3

(4)

8oee3TT  ROTOPOD WROT  BTWeRIGTOW
QTR Oroes RRPATY, BN YUZTNID
0RP

(1) Qrocemngs

(2) UTTNOTS

(3)  @ouTmMES

4) PR

AC 0= DC 03N [OREFRE AFDHR)
8oeTI0T0 FTCDINOZT

(1) R FOROFT

(2) Tsgodo

(3) BOTWZS® T,

4) BIBe

56.

57.

58.

20T dgjd#abq Ebz:é ﬁ}%@é@é "N;d@wd@q
dm;w ITOR  TIT QZFPOICTIN
céw%.@w mﬁd@mmﬁ JeLder

WIBIRID ETERONBD. &3 dodm@ Q033
(1)  FOFRT* WRCTOUFT dod:s"

(2)  Fpedodee Fox*

(3) Tewex® eféjtﬁfo"“

(4) ©BRu8R (mﬁm@) WRETIOT®
oro]

3 ITINT  oIE  OPING RO,

Beomus  BR@ORYY, Ea. (e
RS 8IRFTY)  AchogEnesy,
BOWCIRTINTS ?

(1)
(2)

23,0807 BOTANG 503,

TED OO Zbezﬁae‘b%ojadg{@ﬁzéomd 503,
(3) ORF W08 @i QoROI® TR
(4) BOBANG T3,

B3 TEPFNTT) TOMESR :
PROND FZOTQR ToTUER) FTITEIREZ0RT

A sHYNY 3, FZOZOR,
PUZTTNTIBR.
B. olnd Fepnd  mInY W

BRBTING.
C. ©PYNPoT WEINBARNIT Jw5508e3
WING TRNE BT D82, BHOINES.
33 B0eDT TewFNTE) 033TYTI0 /39 RO ?
QeRTT  BeNYY, FOCINT  LVBTHN
RoBeBTTOR :
1) ARIRE
(2) AR B IR,
(3) C =
(4) B =03,

(26 —A)



53.

54.

55.

268

In electric circuits, Miniature Circuit

Breakers (MCBs) are preferred over fuses

because of which of the following
reasons ?
(1) An MCB permits overloading in a

circuit without causing fire.

(2)  An MCB is cheaper and more easily
available than a fuse.
(3) After removing the overload, the

MCB can be reset very easily by
pressing a lever.

(4)

Fuses of the correct current rating
are not available.

If the current flowing through the heater
coil is doubled, the heat produced will

become

(1) double

(2) four times
(3) eight times
(4) half

A device used for converting AC to DC is

called
(1) Transformer
(2)  Rectifier

Induction coil

3)
(4)

Dynamo

(27 -A)

56.

57.

58.

W.M. Stanley was awarded the Nobel
Prize for being the first scientist to obtain
a virus in pure crystalline form. The virus
was
(1)
(2)
(3)
(4)

Cauliflower Mosaic Virus
Polio Virus
Rabies Virus

Tobacco Mosaic Virus

Know Your Customer (KYC) regulations

have been introduced in financial
transactions under the regulation of

which of the following ?

(1)
(2)

Banking Companies Act

Prevention of Money Laundering

Act
(3) Reserve Bank of India Act

(4)

Companies Act

Consider the following statements :

Bats can fly in the dark because

A. They have better vision in the dark.
B.  The pupils of their eyes are very big.

C. They are guided by ultrasonic waves
produced by them.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1)
(2)
(3)
4)

A only
A and B only
C only
B only
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Which of the following light phenomena

take place in a periscope ?
A. Reflection

B. Dispersion

C. Refraction

D. Diffraction

Select the code for the correct answer

from the options given below :
(1) A and Bonly

(2) A and C only

(3) A, BandC only

4) A/ B,CandD

Which of the following statements is

incorrect regarding the velocity of

sound ?

(1) A loud sound travels faster than a
feeble sound.

(2) Change of pressure has no effect on
the velocity of sound in air.

(3) Velocity of sound in air increases

with the increase in temperature.

(4) Sound travels faster in steel than in

air.

(29-A)

61.

62.

Consider the following statements :

A. Organic compounds are compounds of

carbon.

B. Organic compounds contain covalent
bonds.

C. Carbon tetrachloride is not an

organic compound.

Which of the above statements is/are

correct ?

Select the code for the correct answer

from the options given below :
(1) Aonly

(2) A and B only

(3) B and C only

(4) A,BandC

The pH of human blood is around

1 3
(2 75
3 12
4) 6
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Consider the following statements about
catalysts :

A. Catalysts are not consumed during
chemical reactions.

B. Catalysts alter the course of the
reactions.

C. Catalysts
stoichiometric amounts.

are required in

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) A, BandC

(2) A and Conly
(3) Band C only
(4) AandBonly

Consider the following statements :

A. Dronacharya Awards are give to

sportspersons for outstanding

performances at national level.

B. Dronacharya Award carries a cash
prize of ¥ 7 lakhs.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly

(2) Bonly

(3) Both Aand B
(4) Neither A nor B

(31-A)

65.

66.

67.

One of the following personalities has
done yeoman service to the cause of
sanitation and is also known as the
“Soldier of Sanitation”. Identify the

person.
(D
(2)
(3)
(4)

Parameswara Iyer
Kamlakar
Bindeshwar Pathak

Pramod Kumar

Identify the soil that covers large areas in
Tamil Nadu, Karnataka and Andhra
Pradesh and is formed as a result of the
break-up of crystalline rocks into igneous
a high

and metamorphic and has

concentration of iron oxide.
(1) Red soil

(2) Black soil

(3)
(4)

Forest soil

Alluvial soil

One of the Five Year Plans, also known as
‘Gadgil Yojana’ was aimed to secure an
increase in National Income of over 5%
per annum and to design the pattern of
investment to sustain this rate of growth
during subsequent plan periods. The plan
in question is

(1)
(2)
(3)
(4)

Second Five Year Plan
Third Five Year Plan
Fourth Five Year Plan
Fifth Five Year Plan
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July 1, 1843 is a historic and significant
day for vernacular press as on this day,
Karnataka’s first vernacular newspaper
was launched. What was the name of the

newspaper ?

(1)

Nava Karnataka

(2) Samyukta Karnataka

(3) Vijaya Karnataka

(4) Mangaluru Samachara

The most complete Vaubanesque

star-shaped fort in Karnataka which is a
fine example of French architecture in

our military forts is
(1)
(2)
(3)
(4)

Badami Fort
Manjarabad Fort
Chadragutti Fort

Jaladurga Fort

The Nobel Peace Prize, 2010 winner, who
was a literary critic, writer, poet and
human rights activist succumbed to death
due to liver cancer in China. Identify the

name of this prize winner.

(1)  Shirin Ebadi

(2) Nelson Mandela
(3) Liu Xiaobo

(4)  Aung San Suu Kyi

(33-A)

71.

72.

73.

Which of the following was the currency
of Greece before the introduction of Euro

an the common currency of the nation ?
(1)
(2)
3)
(4)

Pound
Sterling

Drachma

Krone

A famous scientist was instrumental in

evolving the successful strategy for

steering the Mars Orbiter Spacecraft

towards planet Mars as well as its Mars
Orbit Insertion. He is presently the
Chairman of ISRO. Who is this famous

personality ?
(1)
(2)
(3)
(4)

A.S. Kiran Kumar
G. Madhavan Nair
Shailesh Nayak

R. Seshasayee

The Board of Control for Cricket in India
(BCCI) has appointed whom as deputy to
head coach Ravi Shastri for a two-year
period till the 2019 World Cup ?

(D
(2)
3
(4)

Bharat Arun
Ramakrishnan Sridhar
Lalchand Rajput

Sanjay Bangar
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A woman of blood group AB when
married to an O blood group man will
never get an AB group child because of

which of the following reasons ?

(1)

Blood group O individuals carry no

antigens of A or B group.

(2) Blood group O individuals carry

antibodies that abort AB foetuses at

an early stage.

(3) Blood group O gene is dominant

over group AB.

(4) Blood group O individuals carry

antigens against AB.

The Sultan Azlan Shah Cup is an annual
international tournament of field hockey
which is held in Malaysia. The winner of

the tournament for 2017 is

(D

Germany

India

(2)
Australia

(3)

Great Britain

4)

(35-A)

76.

717.

78.

Match the Padma Shree Awardees of
2017 (List I) with their corresponding
field of performances (List II) :

List 1 List IT
(Awardee) (Field)
A. Aekka Yadagiri 1. Art-Sculpture
Rao

B. Bipin Ganatra II. Social Work

III. Literature and
Education

C. Poonam Suri

Select the code for the correct answer

from the options given below :

A B C

1 I III II
(2) 1III I II
@) I II ITI

(4) 1III II I

Jay Thomas, a well-known comic
character and actor passed away recently.
He hailed from which country ?

(1)  United States of America

(2)  United Kingdom

(3)

4)

France

Japan

Who won the bronze in the 2017 Women’s
Singles World Badminton Championship

held at the Emirates Arena in Glasgow ?
(1)
(2)
(3)
(4)

Ashwini Ponnappa
Saina Nehwal

P.V. Sindhu
Jwala Gutta
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The International Atomic Energy Agency
(IAEA) has recently launched the world’s
first IAEA Low Enriched Uranium (LEU)
bank which will be a physical reserve of
LEU suitable to make fuel for typical
light water reactor which is the most
widely used reactor worldwide. Which

country has it been launched ?
(1) Kazakhstan
(2) UAE

Russia

3)

Israel

(4)

Match the Places (List I) with the famous
Temples (List II) :

List I List IT
(Place) (Temple)
A. Mahabalipuram 1. Vittala temple
B. Halebidu II. Brihadeshwara
temple
C. Tanjore ITI. Hoysaleswara
temple
D. Hampi IV. Shore temple

Select the code for the correct answer
from the options given below :

A B C D
(1 II I v ITI
2 1 II v II1
3) IV II1 II I
4) IV I II III

(37 -A)

81.

82.

Which one of the following was not
responsible for the disintegration of the
Gupta empire ?

(1) Too much building activity during
the early Gupta period led to empty

coffers.

Feudalisation of administrative
structure resulted in the weakening

of control over its feudatories.

Problem of the
dynasty led to the weakening of the
king’s authority and legitimacy.

(2)

succession in

3)

(4) The growing practice of land grants,
along with the surrender of revenue
and administrative rights, resulted
in huge loss of revenue to the Gupta
treasury and undermining of Gupta

authority in general.

Consider the following statements :

A. Alauddin Khilji styled himself as

the second Alexander
(Sikander-i-Sani).

B. The token currency ‘Tanka’
introduced by
Muhammad-Bin-Tughlaq was made
of bronze.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1)
(2)
3
(4)

A only

B only

Both A and B
Neither A nor B
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Match the Oil Refineries (List I) with the
States (List IT) where they are situated :

List I List I1
(Oil Refinery) (State)
A. Bina I. Andhra
Pradesh
B. Tatipaka II. Madhya
Pradesh
C. Numaligarh ITI. Gujarat
D. Koyali IV. Assam

Select the code for the correct answer

from the options given below :

A B C D
(1) II I v III
(2) 1 II v III
3) IV II1 II I
4) 1II II1 v I

Which portfolio was held by Dr. Rajendra
Prasad in the interim government formed

in the year 1946 ?

Defence

(D

(2) Food and Agriculture

External Affairs and

3)

Commonwealth

None of the above

(4)

85.

86.

Match the Saint-poets (List I) with the
language of compilation (List II) :

List 1 List I1
(Saint-poet) (Language)
A. Mirabai I. Telugu
B. Tyagaraja II. Hindi
C. Chandidas ITII. Bengali
D. Purandaradasa IV. Kannada

Select the code for the correct answer
from the options given below :

A B C D
(1) III I vV IT
(2) I III II v
@) I v III IT
(4) 1II I III v

Consider the following statements :

A. Golkonda was founded by Quli Qutb

Shah.

B. Bijapur was founded by Yusuf Adil
Shah.

C. Ahmadnagar was founded by Malik
Ahmad.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1)
(2)
3
(4)

A only

B and C only
A and C only
A,BandC

(39-A)
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succession to Aurangzeb in which of the

following battles ?

(1) Battle of Dharmat
(2) Battle of Deorai

(3) Battle of Samugarh

(4) Battle of Khanua

Which one of the following European
travellers who visited during the Mughal
period, wrote in his account that the king
was the owner of all land and no private

ownership existed in agricultural land ?
(1) Bernier

(2) Tavernier

(3)  Sir Thomas Roe

(4) Manucci

Quit India Movement was launched in

response to which of the following ?
(1) Cabinet Mission Plan

(2) Cripps Proposal

(3) Simon Commission Report

(4) Wavell Plan

(41-A)

90. Consider the following events related to

91.

the India’s freedom struggle. Put them in

correct chrronological order.

A.  Mountbatten Plan

B. Cabinet Mission Plan
C. Cripps Mission Plan
D. Wavell Plan

Select the code for the correct answer

from the options given below :

(1) AB,D,C
2 C,D,B,A
3 ADB,C
4 C,B,D,A

In view of the financial difficulties faced
by the country, the Union Government of
India headed by Chandra Shekhar had to
pledge gold to get funds to tide over
India’s Balance of Payments (BoP)
problems. The Reserve Bank of India then
transferred gold to which of the

following ?

(1) Goldman Sachs Group

(2) Bank of America

(3) Bank of England

(4) Central Bank of Russia
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Who said “History without Political

Science has no fruit and Political Science

without History has no root” ?
(1) John Seeley
(2) J.W. Garner
(3) R.G. Gettell

(4) Jawaharlal Nehru

91%' Indian Constitutional Amendment
deals with

(1) Bifurcation of National Commission

for SCs/STs
(2) Anti-Defection Law
(3) Inclusion of four more languages

(4) Special provisions for the socially

and educationally backward classes

Who among the following was not a
member of the Drafting Committee ?

(1) Syed Mohammed Saadullah
(2) Madhava Rao
(3) Krishnamachari

(4) Sardar Patel

(43-A)

95.

96.

Consider the following statements

regarding gravitational waves :

A. Gravitational waves are small ripples
in the curvature of spacetime that
are believed to travel across the
Universe at a speed higher than the
speed of light.

B. They were predicted to exist by
Albert Einstein in 1916 on the basis
of his Theory of General Relativity.

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1) Aonly

(2) Bonly

(3) Both Aand B
(4) Neither A nor B

Adi

mathas.

Shankaracharya established four
The mathas are situated at
which of the following places ?

(1) Jyotirmath, Dwarka, Puri and
Sringeri

(2) Sringeri, Badrinath, Prayaga and
Puri

(3) Dwarka, Puri, Sringeri and
Varanasi

(4) Puri, Prayaga, Varanasi and
Melukote



<)

7.

98.

268

mgd I (5@71@50)
(@@or:ﬁmd @%%uaw) BRODD :

w@g I w’a@g II
( 5@71’%) ( QTR @s—@"a’&%)
A. 30038 I. 2T
B. gm—aw II. %&E3°
C. 39 I1I. @orﬁﬁmz‘a
D. T  IV. 0w
ed

RoBeBNE FDocDHOT RO YVITRYR), SOR :

A B C D
(1) 1III IAY II I
(2 1II I v II1
(3) III I v II
(4) 1III IAY I II

BSOTITITT BP0 60 Q€ YVT TIBY
40 ¢ LNOAT), 5 WD BNOT
TF02008 AIBITONT. 2,00 8. Qee3T” TF
QFILY 3N ﬁ?,\'g’s T 500 3T,
QRETAT SREO g, F)?

(1)
(2)
(3)
(4)

T 4,50,000
 5,00,000
T 5,50,000
Z 6,00,000

D3N BT I D
> %} =l

99.

100.

FENTYNGY, L0080 QEFF00IND
(Teg, I) 0=y wy) ISCRT oot Misd
(B IT) Bpolrd :

w’éﬁ 1 w’&g II
(egroead) (0o23,1%0)
A. ded:’&ef I. aﬁomm%
B. NT°o® II. 30%0 S0
C. T3, III. V3TRD0TE®
—),
D. 3 WR), IV. udm@ @é@@d

RoBeBNe FDoeIO0T RO YVFTRTR) SO :

A B C D
1 I III IV II
(2) 1III I 1A% II
(3) III I II v
4 1II IV I III
PO2  Awrdd, R Sswcnd

T$POONT WBIT  I0BY)  WRCEIFTIE),
BRoWT 7 I wSTRT m%mﬁd =03
LTBT DYeeIFR) 32,87,469 km?. ¢TZT
29 OWNYY  ForER)  @omemd
1,91,791 km? D3ecor TRODT), QYT
TRu000T3 AT CINED FeedoDdYS ?

(1) 83¢

(2) 73¢

3) 63¢

(4) 5Je

44-A)



97.

98.

268

Match the Rivers (List I) with the Dams
constructed (List II) :

List I List IT

(River) (Dam Constructed)
A. Sharavathi 1. Supa
B. Krishna IT. Hidkal
C. Kali ITI. Linganamakki

D. Ghataprabha IV. Almatti

Select the code for the correct answer
from the options given below :

A B C D
(1) 1III v II I
(2 II I v III
(3) III I v II
4) 1III v I II

A rectangular field of 60 metres length
and 40 metres width is to be surrounded

by a road 5 metres wide. If the cost of
making 1 sq. metre road is ¥ 500, what

would be the cost of the entire road ?

(1) < 4,50,000
(2) ¥ 5,00,000
3) ¥ 5,50,000
(4) ¥ 6,00,000

(45 -A)

99.

100.

Match the following of
Observatories in India (List I) with the
States (List IT) :

locations

List1 List IT
(Observatory) (State)
A. Devasthal I.  Maharashtra
B. Girawali II. Tamil Nadu
C. Hanle III. Uttarakhand

D. Vaina Bappu IV. Jammu-Kashmir

Select the code for the correct answer

from the options given below :

A B C D
(1 I III vV II
(2) 1III I v II
(3) III I II v
4 1II v I III

India is the 7' largest country in the
world by area and according to Ministry
of Home Affairs, Government of India,
area of India is 32,87,469 km?2. Of the
29 States of India, Karnataka covers an
estimated area of 1,91,791 km? and in

terms of area is ranked

(1) gth

(2 T7th

(3) e6th

th

4) 5
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